201 7.5HP 1PH Cutterhead Assembly

Product Images

///////
https://jpw-catalog-qa-b2c-2.corevist.cloud/201-7-5hp-1ph-cutterhead-assembly



https://jpw-catalog-qa-b2c-2.corevist.cloud/201-7-5hp-1ph-cutterhead-assembly

Description

Index
Number

1

2

10

Part Number

6012131

6012080

6012132

6012133

6012079

6012134

6012048A

6012135

6012136

6012137

201-BHA

(s/n 1306201HH0429 and

higher)
11

12

13
14

15

16
17
18
19
20
21
22
23
24
25
26
27

28

6012138

6012139

6012139A

6012140

6012097

6012141

6012141A

6012104

6012143

6012144

6012048

6012116

6012145

6012146

6012147

6012148

6012149

6012150

6012151

6012152

Description

Socket Head Cap Screw

Flat Washer

Spring

Socket Head Cap Screw

Hex Nut

Pressure Bar Casting

Socket Head Cap Screw (LH Thread)
Washer

Sprocket

Chain (infeed roller to outfeed roller)

Bearing Housing Assembly (index
#11-15,18,72,78)

Socket Head Cap Screw

Plate (s/n 1301201HHO0426 and lower)

Plate (s/n 1306201HH0429 and higher)

Set Screw
Hex Nut

Bearing Housing

Bearing Housing (s/n 1306201HH0429 and

higher)

Key

Outfeed Roller

Needle Bearing

Hex Socket Cap Screw (LH Threads)
Washer

Belt

Cutterhead Pulley
Bushing

R-Ring

Ball Bearing

Set Screw

Cutterhead Casting Left

Shaft

Size

M10 x 1.5P x 75Lg

10mm x 25 x 3T

M10 x 1.5P x 50Lg

M10 x 1.5P

M10x 1.5Px 20 Lg

#40 x 60 pcs

M6 x 1.0P x 16Lg

M8 x 1.25P x 25Lg

M8 x 1.25P

8x7x18

NA-6906

M10 x 1.5P x 20Lg

A81

RTW-85

6209-2NSE

M8 x 1.25P x 10Lg

https://jpw-catalog-qa-b2c-2.corevist.cloud/201-7-5hp-1ph-cutterhead-assembly

Qty

10

8/25/25


https://jpw-catalog-qa-b2c-2.corevist.cloud/201-7-5hp-1ph-cutterhead-assembly

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

63

64

65

6012153

6012154

6012155

6012156

6012157

6012158

6012159

6012160

6012161

6012162

6012163

6012150

6012164

6012165

6012166

6012167

6012168

6012169

6012170

6012098

6012171

6012172

6012173

6012174

6012175

6012176

6012177

6012178

6012179

6012180

6012273

6012274

6012275

6012276

6012277

6012278

6012279

Shaft

Cutterhead *

Ball Bearing 6007-2NSE
Socket Head Cap Screw
Spring Washer 10.2mm x 18.4

Cutterhead Casting Right

Screw * M5 x 0.8P x 12Lg

Knife Gib *
Washer
Spring

Shaft

Set Screw M8 x 1.25P x 10Lg

Spacer

Key 8x7x30
Infeed Shaft

Infeed Roller

Shaft

Spring

Shaft

Set Screw M5 x 0.8P x 5Lg
Stock Limiter

Shaft

Bracket, Left Hand

Sectional Chipbreaker

Spring

Bracket, Right Hand

Spacer

Anti-Kickback Finger

Knife (set of 4) *

Gib Screw *

Spring

Chain (gearbox to outfeed roller) #40 x 72 pcs
Shaft

Idle Sprocket

Bracket

Shaft

Check Nut M8 x 1.25P

https://jpw-catalog-qa-b2c-2.corevist.cloud/201-7-5hp-1ph-cutterhead-assembly

M10 x 1.5P x 35Lg

22

132

132

10

10

72

62

32

8/25/25


https://jpw-catalog-qa-b2c-2.corevist.cloud/201-7-5hp-1ph-cutterhead-assembly

66

67

68

69

70

74

75

76

77

78

6012083
6012280
6012281
6012097
6012296
201-KGA
6012295
6284833
6284834
201-672
201-673
1791225A
201HH-674A
1791212
JWP208HH-111
JJ6HH-113

WP2510-71

Flat Washer 8.5mmx 19 x 2T

Socket Head Cap Screw M8 x 1.25P x 50Lg
Spring

Hex Nut M8 x 1.25P
Spring *

Knife Setting Gauge Assembly (index #71-1 thru #71-3) (not shown)*
Knife Setting Gauge (not shown) *

Shaft (not shown) *

E-Ring (not shown) *

Retainer Ring

Retainer Ring

Helical Cutterhead Assembly (index #74 thru #76) **

Helical Cutterhead **

Knife Insert (sold in set of 10) **

Knife Insert Screw ** #10-32x 1/2"
Star Point Screwdriver (not shown)**

Oil Cup (s/n 1306201HH0429 and higher)

Additional Information

1

1

125 total

125

Stock Number

Products in this set

1791261-6

https://jpw-catalog-qa-b2c-2.corevist.cloud/201-7-5hp-1ph-cutterhead-assembly

8/25/25


https://jpw-catalog-qa-b2c-2.corevist.cloud/201-7-5hp-1ph-cutterhead-assembly

